Part One

The answers to the anagrams are:

INAIPSISMO = PIANISSIMO
NADNETA = ANDANTE
OTESONUST =SOSTENUTO
ALTEROMNDO = TREMOLANDO
TOISANTO = OSTINATO
LARLENATOND = RALLENTANDO
ELALRGETOT=ALLEGRETTO
GELIGERO = LEGGIERO

The name of Beethoven’s sixth symphony is the PASTORAL

Part Two

The answer to Question One is:

5

Bar two crotchet rest
Bar three 2™ crotchet note stem should come down
Bar three quaver in bass clef is an incorrect rhythm
Bar four dotted crotchet is an incorrect rhythm
Bar four semibreve is an incorrect rhythm

The answer to Question Two is:

18

The answer to Question Three is:

15

The answer to Question Four is:

9

The answer to Question Five is:

3

The answer to Question Six is:

1
The name of Beethoven’s third symphony is the EROICA

Part Three
The name of Beethoven’s ninth symphony is the CHORAL



